Xa wdtn = 20 mm

= yipm ek

ww oLt

0t,31 1t,30 2t,29 3t,28 4t,27 5t,26 61,25 7t,24 8t,23 9t,22 At,21 Bt,20 Ct,19 Dt,18 Et,17 Ft,16
0.0 xi width = 16 a = 230 mm 1.0
(t=top)
0.066 0.933
0.133 0.866
0.2 0.8
0.266 0.733
< 0.333 0.666
£ 0.4 0.6
=
7| xwidth = a=14.375 mm 0.466 0.533
= i =pb=
@ y width =b =9.375 mm 0533 0.468
E 0.6 0.4
0.666) 0.333
0.733 0.266
0.8 0.2
0.866 ) 0.133
Data in rectangles: w* value of w* setgray
0.933 fab =100 (32 x 14.375 mm x 9.375 mm) / (210 mm x 297.4 mm) % = 6.9/%.066
1.0 (b=bottom) 0.0

= Ww 0ST = Yipm 1A

qotT

Fb,0 Eb,1 Db,2 Cb,3 Bb4 Ab5 9b,6 8b,7 7b,8 6b,9 5b,10 4b,11 3b,12 2b,13 1b,14 0b,15

BEB84/Z84ELONA: Colour area 14.375 mm x 9.375 mm; Yield / Emission: 6.9% geometrical colour area coverage and 3.45% visimlere
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